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You have been given this question aper and a separate answer sheet, The questmn paper containis 50 quesuons

2. Do not write on this question paper. - el s o .
3, When you have chosen your answer, marl\ it on the ANS“ ER SHEET not in thts questnon paper. Time: l hl‘.40mins
" HOWTO USE THEANSWER SHEET LREE
4. - Make sure that )ou have written on the answer sheet
__YOURNAME . NAMEOF voun SCHOOL- o
1. A pupil at Mbukuni school took atest tube, put ‘;7, Whrch one of the followmg is not a recreatlonal '
~ some soil and heated it strongly until he saw some | activity done in water‘7 LT '
smoke. Which component of soil was he  A.Fishing - “B. Washmguf"
mvesugat'ng" o B C. Sallmg D. Swrmmmg
A. Humus in soil SN : ;
B.Airinsoil 8.  Soil was mixed with water and left to settle for
C. Waterin'soil =~ , sometlme Layers were observed as follows ’
D. Living organis'ms in Soil : , -
2. Wlnon one of the followmg groups of animals |- E 5\-—-—-—-——-——— A
consists of invertebrates only‘7 ' R »"P a0
A. Slug, gecko, wasp ' PRy I R tTr o TQ .
* B.Scorpion, newt, butterfly = 7 SRS ‘.’-;N
C. Millipede, spider, slug o 008p 00 0go00 | 1
D. Crab, llzard centlpede XX %ofg_"eo%’ﬁb ~M -
3. Which pair of animals below consrsts of ammalS | - Which layer'do we find silt? s
with scales only? o : A.Q B.P
A. Newt, lizard, toad C.N - 'D M
B. Salamander, snake, bird. : ' ’
C. Frog, snake, newt 9. .© Which one of the followmg is not an 1mportance
D learcl ‘snake, duck - of lighting a house? ’ o
. R A Seeingclearly 7 o~ o
4.  Whichof the followmg is correctly mdtched mth ' B. Send pests away
the type of root system? LT C. To read comfortably
Fibrousroot = ' Taproot D. Encouraging pests’
- A. Wheat S0 coconut - _ '
" B. Grass - blackjack .
C. Sukuma wlki_. T "onion‘.-."- o
_D Tomato millét
5. Wlnch one of the followmg materlals both have'-
- definite size and mdeﬁmte shape" o '
A. Kerosene and wood T
B. Water and bottle
C. Oxygen and ice’
" D. Petrol and mrlk -
6. “The following is & PfObICm of the teeth Idbﬂtlfy 110. The dlagram above shows that pressure- in lquIdS; :
the problem relate& to the teeth.” 1 Al isexerted inall directions.
AL Cavity ‘B. is equal at the same depth.
B. Bleeding gums C. is exerted with holes .
' C. Tooth'decay D. increases with depth.
D. Crack '




11,
12,

L have HIV virus?

13.

14.

15.

16.

17.

‘18,

: C. i, iit, v

o0 -.w.>f‘

. A.window

" As duck-billed ‘platypus

The sheet of muscles separ' ting ;;he thorax from .

abdomen iscalled °
A. diaphragm
C.ribs

B. Vagmrﬂm: o
D Semen ,

A. Sahva_
C. Urine

The following are characterrstrcs of smls

i. Isloose.
ii. Cracks whendry -

‘#i, Spreads-easily - :
“iv." Has lowest capdlarz:y
v Déesnot spread easily - -
of the above. eharactensncs descnbe» »

Which.
sand soil? : o
A. 1, i, iv- B.ii,iv, 1

D. iii, iv,v .

The classification of clouds is done using all the
- following except :

A. shape

C. appearance } ) D texture

Which of the following - statements is not true; '

about the weather instrument bek)w‘? It

is.coloured black and white for visibility.
works under prmcrple of matter occupies
space '

is open only on one side.

is- kept in an open spaee

Which of the followmg diseases are caused by lack

B helght Y

19.

120,

-

Whleh of the following need not be the same

~ 'when comparing-drainage in sorls?
A, Amountofsoil :
~ B. Amount of cotton wool

C. Size of collecting j jars

" D. Tlme :

- Whrch of the followmg group of foods rsbalanced? i
.. A. Meat, spinach, rice
- B: Fishi:beans, avocados

C. Soya beans, fish, oranges

D. Rice, bread, meat

21,

e

23.

N

of minerals? . 1 R

A. Marasmus and anaerma

'B. Anaemiiaand rickets* -
~ C. Rickets and kwashiokor - .
D. Rickets and 's'curv'y o

The period between the entry of disease germs in

the body and show of first signs is called
7 Blincubation

C. symptomatic . D qu blown \

reproduction except
' B. shark

C. spiny-ant eater D. bat .

| {2s.
"The following ammals lay eggs durmg therr :

- C. Ovary

Which. of the following part of the reproducnve o
system does fertilization take place?
‘A. Cervix B. Fallopian tube .
D Uterus o

_ Whlch of the followmg is the order of stages of

HIV infection? ,
A. Window stage - symptomatrc asymptomatlc -
full blown AIDS

. B Window stage - assymptomatlc symptomatrc

~ - fullblown AIDS
C. Window stage - incubation - assymptomatic
stage- full blown AIDS

- D. Window stage - symptomatlc incubation - full |

blown AIDS

The foll’owingare characteristics of a certain weed;

i. Hasyellow flowers
ii. Has unpleasant smell
iii. Produces black seeds
iv. Grows and spreads fast =~

" The weed described above is

A. oxalis

\ o B. mexican marigold
C. sodom apple

D wandering jew

The followxng is a set up to. shew how sound is
produced when bott!es are hlt and bIOWn

| o D.-
Whlch two boitles produce hlghest sound when

" hit and blewn respeetrvely? :
A.AandC B.BandA.
_C DandB D.C andA

The followmgarecharactenstrcs of acertain cloud -
i. Mountainaus in shape : '
ii. Indicate fine weather

- iii. Formed very high inithe sky

iv. Indlcate f ne weather

" STD 6 SCI



26.

27.

29.

(]
('S )

. Whlch clouds are descnbed above?
A, Nimbus

‘i. Skinrash

- A. Small intestines

-B. Gullet - allows food passage
C. Colon - absorptlon of minerals

D. Rectum N

“Which of the followmg, paits of pro sses are asa

-A. Freezing and condensation
- B. Freezing and evaporation
‘C. Condensation and melting. 1
D. Melting and evaporation A

~ Which of the f‘olloWing is not an_importanc.e of
water in the body? Helps

“B. Cumulus -

C. Cirrus " D. Stratus

Whlch of the following is true about aramgauge‘7

A. Itis placed 15 cm above the ground to avold
splashing of rain water. -

B. Parts of a raingauge are made of metal to ]

withstand harsh ehmate

C. It is dug 30 cm in‘the ground to reduce rate of 5‘

evaporanon
D. Itiskeptina level ground near trees

34.

35,

The folIowrng are srgns and symptoms of a water L

borne disease; -

ii. Diarrhoea may develop ,
iii. - Itfgay causghied mg m the bowel

iv. A cough mi Ay |
The above sigrns ff’g to whlch water borne ‘
disease? - } o
A. Cholera B Biﬂiarzra s
C. Typhoid D. Dysentry '

Which of the followmg can store water in large

- amounts? ; -

~ A. Tanks B Droms -
C. Reservoir _D. Dams’
Which of the followmg plants is green and non-.
flowering? _
A. Toadstool B. Puff ball”
C. Alga’e ' D. Grass o

Which one of the following is not correctly b

matched with its function?
- starts and ends digestion

undigested_ d

result of loosing heat to the stu‘rounchng?

A. Moss and puftball
B. Algae and moss
C. Toadstool and cypress -
D. Moulds and moss

-

- temporary stc rage of I

' : C. Vitamins

37.

s,

A. in making of blood
B. in digestion of food.

'C. the body: to get rid of waste matenals

D. in cooling the body.

" The followmg words describe how animals move.

Which one is wrongly matched?

A. Snail - glides

B. Caterpillar -  crawls

C. Lizard - - crawls"
D. Gz‘asshopper— fhes

-Which of the followmg is the brest’ way of
. preventing malaria?

A. Sleeping under mosquito net

~ B. Draining stagnant water

C. Covering surface of water with- oil

D. Frttmg house wrth w1re mesh

Whlch of the followmg food substances is needed_
in small quantities? - - '
A. Proteins - B.C arbohydrates .

D. Mmeral salts

The main function of tiny hdlI‘S and mucus tound

‘in‘the trachea is'to

A: keep the trachea open.
B. moisten air. o
C. trap-dust-and germs. .~
D. warm the air.

The sticky substance that forms on the teeth when

~ they are are not cleaned,proper,ly is called

39.

' Which of the foll_owmg pair of plants can make 3
~their own food?”  ~- 3

140.

A dental ﬂoss
C. ac1d

B. plaque
D. gingivitis

The set up below was used to mvestigate a certain
aspect of heat - End B

The aspect bem,g. mvestigated is

~ A. radiation .
B. convection and radiation

C.CDnVéCtlbnand CQnduCtion_: TR

- D. conduction and radiation

Anaemia is caused by lack of i iron in the blood.

“Which of the following can not cause anaemra"

A. Too much bleeding.
B. High produetlon of red blood cells:' '

-
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C. Low productlon of red blood eells :
- D. Destruction of red bloodceﬂs by bllharzza
parasites.

:41-,
. .animal;
i. Breathes through the lungs
ii. Has varying body temperature SCTOE
iii. Has scales on the body.
The animal is likely. to be
A.dove
C. shark

~D. ehamelexm

42. A child had the followmgszgns and symptoms, |

i. Hair falls.off easily. -
i, Chd@ﬁ:elops ap
iii. Sores dévelop agt
Which of the followih
A Groundnuts and potato e
‘B. Meat and peas o

C. Liver and kidney

D. C'arrots ‘and spinach -

rners of mouth.

T he clmrt below re ',resey s cf
ammals

ANJMALS

: Vertebrates Invenebrates’

Warm bleoded " Cold bioodeT ~

Mammals- k . Birds' Reptiles Fishes

Bg - oegteg eg. o Teg.
kangaroo . turkey newt -~ - shark - sqak‘e

A.Newt and snake - - . o
. B. Kangaroo and shark .
C. Turkey and shark o
- D. Kangaroo and shark

- soils?
A. Amount of water B. Tlme _
. C.Size of cotton wool D’Amount of sml

constant when i 1nvest1gatmg capxllanty in different :

45
. family?
A. One feels. ashamed; R
B. Lower standards of llvmg
C. Poor performance at work, - ey s
D. Increased number of school drop outs

Amphihians 3

Which one of the followmg need not be- kept 3

46.

47.

B. duck billed bl piatypus

foods should the child feed , .

N

The most. eﬂ'ectwe eontrol measure agamst HIV
among the youthis
A. being faithful.

' B, mass education.
The following are charaetenstaes of a eertam

C. absnnence

D, use of condoms

The dlagram below shows a set up used to

s demonstrate a certain aspect of 1 matter..

,\‘

Wthh of the foIlowmg is likely to occur when

. .thebottle isremoved from the hotwater and dxpped e

48.

' 49,
Whlch of the followmg is noi correcﬂy matched? | -

- Which of the followmg is an affect of HIVto the } : |

" B. Helps in digestion. o é
. C, Prevents constipation.

_. _:A Seed have two
. B. Stores food i in.

- C. Have tap root -

“in cold water?

A. The bottle cracks. | i R *
B. The balloon contracts. _— )
C. Heat enters the balloon, o : 3

- D. No change.

in a human diet? -
A. Add bulk to the food to allow easy movement

Which of the. followmg is net a ﬁmetlon of ﬁbre ~ 4
 of food. ’

D Helps in getting rid of undlgesed food

The followmg are differences between dxcots a_nd

‘menocots. Whlch one is wrongly matched?
‘Dicots ' ~ Monocots -

Seed have one cotyledon

cetyledons : ‘ T
Stores food in endosperm: -
cotyledons S :
Have fibrous root
Leaves have network
' vems '

D. Leaves have
~ parallel veins

50. Which of the followmg is a source of Vegetable o

fat? ..
A. Butter B. Bacon .
C. Margarine D Cheese
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told. S __Benand lus 6 d

T also planned to mclude

- will be back to school soon.

- absent

Iwas not 7

long letter about~

my usual tune

- wa]ked w1thout

to VISir hxm but mother '8

14 hadrbeen hapi)ening in his _15

11 acard for hlm 12

4 to school I had been

promlsed she 3@0 thd\/ | |

_ he was our frlcnd.

‘ ihopé he

A B ¢ b
1. Wednesday : Wenesday = ’ Wédnsday’ = Wenedsday
; about | on o “for
SO ~and that ~ when
hurra); hury-“ hurried i hurrymg B
about. of with on .
- sick - s'riék;ingki sicknéss . sick.lin:g
aloud ~allowed allow | around
can ~could . , ‘\woul.d shall ..
1. - made " .- making - meﬁd i make ot
_'121 NSinc.e‘," o when | ) 's.o that  »
14, how which ~ what who
' ~absé‘nse absentee -

-absence

i 4
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18. There aremr

. }néans t'h'és_arhiéas'tiie‘ ic':{dérline‘d.‘

f16 Kamau removed the wranp ng from hrs e

. Christmas present. 1 5%
© 4 A untied - B. o‘pene'd"’ K
C. mrwrapp,ed— . ... D.revealed

-

ﬂlsremgg t_g him sat quretly

~Afans 0o Buspectators
‘C. crowd . "~ D. audience
Q‘}{ P ) . "

- write, - e
A.illiterate - * . B.foolish .
C.educated ~~ ~ D. literate

%0810 are unable to read and

For questions 19-21 fill the gaps with the

correct word.

19; “Heis capable' ___-doing very well in the ,
. race. R T "
A. of © B.in

C.for . D 'IO ,

20. My brother who is only two, is _ o go -

to school.
A. not enough old B. too young

C. too young enough _ D. too old enough

4 Ibought g furmture fr‘om the supel’maﬁiet-

A these ’?'* . : 3 that
C a "‘"f ‘bﬁ‘-"“ %‘ D much

;F or guestwns 22 and 23, choose the oggosue ;
T of the underlmed word ' :

. '22. The guards r:gfused hi’f“lfl_: to en_ter\: the hall.
‘17 ..When the psesrdent spoke, the Deople who were 1 ‘

A reJected ~ B.sent
C allowed 7 ' D ejected
1o, a&thc :\’pohce arrived.
I = ‘ B. followed
e C stopped - D. 'sat' :

For questtons 24 a g5 clzoose the segg ce
-whicli is correctlg gunctuated

24 A. “John said, We are cooking potatoes for .+
. supper.” :
B. John said, “We are cookmg potatoes for . -
supper ’
C. “John said,” we are cookmg potatees for
supper.. .
D. John said,we are cooking potatoes for supper
25. A.fWehdy, rhy best friend, is absent today.
o B.4We_nd'y, my best friend is absent today.
C. Wendy my best friend, is absent today.
' D. Wendy my best friend is absent today?

When I amved at the scene of the accrdent I was shocked beyond words Broken glasses were '

~ scattered all over and the luggage was stewn by the sides of the road.

It was as clear ascrystal that a van had an head-on colhsron w1th a lorry In fact it was the speedmg van
that had slammed into alorr:y that was headmg in the opposite direction. :

It seemed as if the devil had paid the hrghway a courtesy call and horrlfylng screams ﬁlled the air as |

- victims trapped in the wreckgge fought for therr lives. The place smelt of blood as the victims were bleedlng
_ profusely.

| stood still shocked Beyond words. 1 could not make up my mmd on what to-do. I was motronless and

”STD6EN
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temﬁed to offer help. Wemen sobbed uncontrollably,

-

_ breathless fora  while. Soon the curious crowd of on-lookers gathered at the scene. Most of them were too

. It goes without saying that the darkest hour is the one nearest dawn Pohcemen arrrved on time and
" ':swung into action. The officers. communicated wrth the nearest hospital and before long the Su'en of an ambu-

lance was heard. On arrival, the victims' were carried on stretchers to the ambulance and off to the hospital.
The drivers and conductors were among the serrously injured and therefore the police mterrogated afew

lpeople who had witnessed the fatal accrdent Rumours had it that the van driver was overspeedmg and 1ost
control. e : ‘ ‘ : - o

The wreckage was towed to the pohce statton It was sueh an awful scene thata boy of my age \ would- -
s never wish to witness agam : '

26.

27,
28.

29.

30,

31.

32,

'B' shockEd hGITE PO

When the wnter,amved at the scene ofthe accrdent
he was ' :

C. hurt

D..aware of the accrdent

The word ‘luggage’ has been used in the

passage. What is the plural? -
A.luggages - B. Iuggage oo
C. lug’gageses. ‘ D Iugages '

, Accordmg to the passage, the accrdent happened

; aion'g b
A. astreet ‘B. ahlghway -
C-abridge - D.ajunction -

‘Who 1nformed the police about the accrdent‘?
,A%mwm o

B. The writer

'C. The onlookers

D Other drivers using the road

Most of the people could not offer a helprng, hand
dueto . o
A. loneliness -

- B. surprise that ruled the area

C. distance

- D. the shock that enveloped the atmosphere

‘What could be the probable cause of the accrdent’?
~A. A speeding lorry :

B. Overspeeding by the van drlver _
C. Cautious driving, o

D.Badréad  ° "_' &

According to the .writter'he would

33,

34,

35.

means that the scene was
: A.dangerous

S

‘A, never wrsh to witness such an accident again
- B. wish to witness such an accidentagain .~ . -

C. is not sure whether he would or not witness
such an accident o ,
D. never mmd such an accrdent agam

The \Arrter deseubes the scene as awful This
B. surprrsrng

C. terrible - ' D. unbelievable.
The word fatal has been used in the passage "to
mean - g - | ‘

"A. serious B. terrible o

C. deadly D.risky

The witnesses were - bythe police officers.
A. arrested . g

B. asked questions

~ - C. taken to the police statlon ;

-36.

37.

38.

A. girl

D. threatened and scared away - - P

According to the passage the writer was a
B © B.man -
C.woman ' "D'bo‘y"

“Victims trapned in_the wreckage fought for
their lives” means they

A. struggled for thelr lives

B. fought each other N

C. hated their lives

-D persevered with therr lrves

The best title for the passage would be

~A. The highway
" B. An accident I witnessed

C. Acciderits on the road

D. The two drivers




Read the ollowin

No child has ever been born running unless it is one of those miracles forgotten for this generation Tlia,t‘,i's :

why it-has to coo, crawl, stand,walk and eventually run. All:these are within the test of tlme asa factoraf

~ which is constant. All these stages have resemblance to evervox'e After the last stage then it enters 1n£o
perfection, Every person endeavors to 1mprove oneself Wl‘llCh is essentral in hfe f ”
The path-to perfection is not a smeoth one! It is rugged, full of hills to ascend and Valleys to descend The £

tvalue for perfectlon or excellence is the first stage. Before you set y0urself to goto perfectlon you ‘must have that

desire to perfect. yourself Itis thlS value for eXcellence that causes you to care about deve opnent and achleve

‘;your targets. These targets lead to greater hexghts of success

It sounds funny t%m;at a talent dies if not- perfected or exploxted SO they must be developed and R

exploited since they are not as old as their owner Some are short lived and all talents have a chmax Tlns is thc e

best time to exploxt fully,. o : o o S ,_’ - * S
'39.  Which is the first stage for all children in life? | 46. For one to achieve the life targets ands@reams, itis.
‘ A. Crawling - B. Cooing o advisable to ' : ., L
C. Walking D. Standing - - A. make sure you excel Ll
4 ‘ B. have dreams for greater helghts
40. All stages depend on one factor of change Whlch C. be'hardworking :
- one? - D. perform a mn'acle in hfe
A.Running B. Improvement L A P T i
C.Time = D. Desire : 47. ,Whleh statement is not true about talents? =~
‘ N A. All talents can stay in the owner so long as oo
41. After that last stage of running, 1 then comes , the owner lives - L
A. development B desire. ‘ ~ B. Talents die when they are not perfected or " S
C.value | D. perfectlon | - exploited . L L
o ~ C. Some talents have a hmlt of time PRI
42 The word ° smooth 18 underhned Its a D. Talents have climax and lt IS the best tlme
~ opposite is T 4 : to exploit _ Ry .
A:slipperly B. rough ~ SR
" C.hard , D.soft . 48. What is the result of the valué fo’? exeeﬁénce" WA
IR AL | A Makes one to have talents T
- 43.  Before one goés to perfection, he musthave | * 'B. Makes one to care more about deve of _f' nén
A.desire  B.value R 1 and targets:
C. exc'ellence D 'achievement ' C. I\hlakgis one to have dreams for greater
B ' ; eights .~
44, What needs to be worked more onto achleve you;r D. Makes one have hfe-long talents .
~ targets? _ - o
A. Dreams = - B. Hezghts ) . 149. Whendo you thmk a talent lxke runmng or R
C. Targets R D Development’s A playmg a.game can: be said tO dle? When one g g i
' . "Alsveryyoung o S e
45, The phrase resemblance to eve gone as used inf = B.issick
" the. ‘passage means. -+ - . _ = - C. getS too Old tO run or play
A. the stages resemble each other ' '_ ‘ D.is asleep or restmg R e
B. all these stages are the same in all people = } % * Rt
C. the'stages are the same for people whoare . | 50. WhiCh is the best title { f°" the passage" R
alike A. Child’s growth ERRE R
D. all stages are not the same to people who " B.Achievement of greater helghts
are not alike e | Cl The talents
D. Stages of growth and perfectlon
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‘ I’)A""'SA LASI SIT

. Umepewa kijitabu cha maswali na karatas&, ki }Itab
~ Ikiwa utataka kuandika chochote ‘ambacho si
_Ukisha-chagua jibu lako hon
v JINALAKO

; i h}kl kfna maswau 50,
-iju andika katika kijitabu hiki. . -
yeshe katika KARATASI YA MAJIBU wala sio kanka kmtabu hiki cha maswah
e L JINALASHULE YAKO Ll i ,

Muda' Sai’] daktka 4035 5

SafarI yetu Ihanza saa mbIh

g ) 'masokwe wenye kundule nyekundu kama '

Tuhﬁka mJIm Tanga saasita _ 9

F i

SR

St
s

e ',A Tuhsherekea
A. kijijini @
u ;A;J,a

f Masomo 11

. A. sirahisi-

o B _uom

Eyatamwezesha kutImIza ndoto yake ‘Mt_

A ndlcho _:
A uso

A. dhu}uma

A. chao'

L ,‘B sokom

. B ?asubnm' :
- B. chache
- B damu ' BRI

ngae ya mal a'_ya' Slku za

B IIdImo

G '. B kesho
i'VB hakl o
© Bonirahisi
vaao o

' Tanga Tuhabm gari jIpya

B Tutalsherekea -

G C.aliyekua - ‘

klamshakmywa Barabaram tuhona Vlea 7

‘C.wa_ o

C. kadhaa
, C. meto ,

C ndlye e

e i

aSIpoenda shulem 1 kutambuana kuk akIpawa ; '_' 15 :_ S

C. hétimaye

N'_i:f 13

" C.usoni

- C. uwezo

 Clchake

abu Nma ndlye 4

Mapendo ahtukanb:sha kwa mIkono mxwrh

C Tuliishgréhékea:;,:_r»

D. Tuifurabia

© Dimjini
 D.alickua -

En Dnﬁhodha T ‘

“Du rangl |
D, adhuhun

' “D_.‘ wao

kxla mtoto kusoma Masomo\ T

usukamm yaam, :
Kwanza tuhwaona,v .
Tuhona kundI Ia pundamllla ltkrla kandokemdo ya baraste oy
e



B Wakulunawahpandannp@azkanbuna;;f;:; st
) o C Nywele

: C. Wakuhma wahpanda magapan kanbﬂ na ) ‘ ¥ 24 f’

e 3 A 0

17 Kar

“Mwalimu-ana hati nzuri... . -

bmka.

L e

bmka

A, Mwalimh ana

18

19,

B. Mwahmu sma haax nzurl

C. sungura

C. Mwahmwhananga hati nzuri.

D. Mwahmu hana hatx nzuri.
fTunaséma Mjan_;a kama .
A. mbudl o

' B. mbweha
D nyoka -

. ’Turma klwaklhshl kmachofaa

‘“.,A utaplomlo

' Unywele

N hokatwandlo 7: r_efu,ii_
B u,nd
D u,

A zi, m -
C. zn, nd

Ped Ugon)wa wa waiota wakukohea ma unaltwa_j .

B kifaduro
D upele

;Nxmmmaanaya1sharahu‘7 L

,”A Klvuko cha watoto B Wasaﬁn wengl :

C. vauko cha umma D. Tahadharl

26,

% fZﬁCMh@’ e
“’;}KmmwmammMm@hﬂmmm‘

L \B; sttan sawa, geh
' CMstarx sambamba, kuzi

" D. Mistari sambamba, geli
 A babu

3 Klatu eha mwahmu m___(___
LA, kxsaﬁ '
1 :VC safi
- 27.
 AKI-VI . ;
cra

A nymgme E
C mgme

B D. Mzee rﬁfgpi[hmeketi mbele.

Ty o e o e T o
. ¥ - = "

E Katxya wanyama ,‘haWa ni yupl -ambaye si wa.

D Maj am

Tambuamaumbohaya

Baba.wa baba utamwn -
B. buda -
C. ka;ka D. nyanya
_sana..
B chzifu

D. mng’ am{

- Neno “klpepeo hko katlka ngeli ya _
B LI YA

. Jaapengo:
'-.,,'_Nyumba | ngs '.

B zmgme

D nymgmezo

Ni nini kmyume cha

Kuana mrefu amesimama nyuma" =

'A. Msichana mfupi amcket; mbele -

B. Mzee mfupi amesimama mbele.

C. Msichana mfupi ameketi nyuma. - -

 STD 6 KIS £



[R—

- ', paka pamq;a na chui, duma na dubu

- wawili haw&m 2121

32, Aya ya pili haidokézi' kuwa -

b 35, meo cha Slmba wa kuime ni tgknbam

Sxmba ni m;ongom mwa hayawam wengl wanaes;ﬁ.ka knte duniani: Mnyama huyu: yupo kauka Jjamii ya

Stmba ndiye: mfaime wajangwmn‘ Yey '”mepahkana, anghalabu matalfa yahye chlm ya jangwa la Sahara .

S thxwemo ta;fa letu Ia Kenya Nchmi ‘mwetu smrbam klvutlo klkuu cha watalu

' Mlo wa sxmba ni nyam Yeye huwala wanym kama paa, swara, pundamrha na. hata nyatl Slmba '

! anayemnda mara nymg1 ni wa kxke kwam yeye m mw@es: zaidi kuhko wa k:ume Wakatl muma wa kumnda

X huwar ni usxku Klmo cha s1mba wa kmme ni taknbam mﬂa moja na nusu

Sxmba wa kike ana pwezo wa kupfungua watoto wa\mh had1 kujifungua Watoto waw1h had;» wanne

e A_Akaembe hawa wanaitwa sh;bh, Sﬂﬁba Wﬂﬁalshi katxka fam:ha ya hatii kufm na watanev wengx ‘wao' kattka klla _v
* kundi ni wa klke Shlﬁ} w&kmme'anapokua nakukamaa huha;ma na kuanzmha famlha yake N1 kweh kuwa fahah N

i A:-,_ ,,“,;, T T

31 ’Ku]mgananaaya Ya kwanza, ni hayawam yupi :36.  Ninini maanaya kupﬁmé a _]ll’lSl 1hvyotum1ka

- tofauti?”

o A Dubu B Chul

' » katlka aya ya tatu 2 U
) C Paa o D Sxmba | - ~A kujafunguha 4' B kupsa;dxa

, C ujauzno D kuzaa e

A sunba ni mfalmewaf;j w; 37, Katlka aya ya mw1shQ mwandlshl anasema ,\‘

o watoto wa 51mba hmtwa \ -
A v1kembe B klke\ N

D s1mba hupatrkana nchml Kenya pekee - 5, o C Wa§°t° ST v_p-_ﬁ,sh,‘b]’; _

33 Chakulamahususx cha sxmba ni S ;;}3’8-', Klla kundi la simba huengazw;ana ;

‘A nyama { Bwanyama _' i L A mmba wa klkf; B 31mba waﬁume
Cswara D.paa S| Coshibii .Drshl_‘?h-ahye_komaa-.

- 39 Pmdx mtotawakmme anapoanza kukomaa S
1 :;.A huwaklo OZ} i o i
y _wa klume ni’ m imhka,. ne

wa kmme haWIIldl B huanza kuwmda,_

: ER D huharma kundx nglne

Uf: o ‘w,-,‘-' o

A huwmda mchana peupe .

5 , 40, 4 “Fahah waw1h hawakal 2121 mOJa” |
A mlta moja. - " Tamathalihiini

B. hatujaamblwa. S S -1 A methali B istiara

 C.miamojamgmusu . . | ¢ kitendawili -+ D ‘Hahau'

e e o ~ STD6 KIS
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e _'na makwekwe Iwapo mvua halfoshl mkullma humyunylzla mimea yake ma_u

-

Shambam ni mahah pahpo na shughuh mbahmbah Mkulxma hufarzya matayansho kabambe Kwanza,: : _'

'~ hufyekakwafyekeo Nlayahatuahnmkukatamagugg? daye hulir ; igine plau. i
‘hukokotwa na fahah wana(ntwa maksa1 thendo cha kuwaengcza maksal 111 wahme kwa njla mayohltajlka m
kuswaga. S : L

| ; Shughuh mayofuata ni ya upanzrwa

~ hit midogo inaitwa mlche Sasa mkulima agxaweza kmpahha mimea yake ili kmlmda dh1d1 ya ushmdam wa ma;rr

Wapo wadudu wanaoshambuha mimea, Ih kuwaangam:za wadudu ahanblfu mk k,hajﬁpu;gﬁa rmméa .

6. ,'V,T'Kulmgana na' aya ya p111 sababu ya kupahha i

Kﬁifnganana aya ya kwanza smicweﬁ us
’ V - mimea m;dogo ni’

T Antm]owth wmf RIBUILSI I

i shambam'hf' ymgx
B. shughuh ya kwaaza ni ya? kufyeka:

'A. kuilinda dhidi ya ushmdanl wa ma}l L
‘B. kuxfanya imee. :

- C. shughuhshambammchache - S C. kuilimia. B SN I
D. jembe hnatumxkackatlka kulima. . S ' .. D. kmlmda dhld' ’:udu'v’siaharibiﬁi.,
o e ; i ' ] 47 MWandlshx andséma iwapo mvua haltatosha
o 42'.'"' Kulmgana na mwandlshl shughuh ya kwanza S A rhimea Itakauka S ,
‘L shambam niooat S B. ataxpa:hhammea

C. mkuhma atalpuhzla mlmea dawa :

A kulxma B kupanda
- D mkuhma a;tmnyunyma ma;x

C. kukata magugu D. kufyeka S e T , , s
o e R o) as Nluplambaommfuuhz kunaofaashambam‘?
S i ih o A Kufyeka- kuhm

kuvtmzr

1 '_ 43 _Eahah wanaokokotaplau hmtwa_

_ B. plau
; D fahah

B R N B A I S T .ot RO S UL C VNS
MR ;',,-‘;’.A A :.','-’-’ e . DA r

) :_ 4. Ih fahah wahme kwa rijxa mayotaklkam, ;
. mkulima

A. huwaongoza fahah
'B. huwaswaga fahah _ _ U . B e _ S
C huwachap&fahah - f L PR ; *50 : --Mkulﬂnaimyauza mazao: ya zlada ili kupata

D. hukokotaplau L c ot ,f‘j L mahltapmengme Mahxtagiyanawezakuwam
A ’ | ~  pamojana RORREEARIE e : '
~ A.karo ya Watoto

S SO | B. mavamyawatofn DR
‘A.mimea  B.machipuko . -~ ] C.chakulacha nyumbani.  ©

45. . Mimea iliyochipuka huitwa

.C‘.m_i:che D, mbegu L . : D ku}engajumbanzun Lo
) o RN T T £ IO

] ardhnn Pindi mvua mapenyesha mbegu huchlpuka Mameaﬁj.f
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- & TIMER NATIONAL SERIES
“*w  EVALUATIONTEST .

STD 6 MATHEMAT

¥ . Lo : o L ity ,, )
[ N [y N B 3 ,

L You have been given this question paper and a separate answer sheet. The question paper contains 50 questions.
L2 Donptwri'te,o'nthisfduéstionpaper. R R S : SR
F" 3. When you have chosen youranswer, mark it on the ANSWER SHEET, not in this question paper. e e
. Tl , HOW TO USE THE ANSWER SHEET. = - = Time: 2 hrs -
-4 ' Make sure that You have writtén on the answer sheet, - U T vl A e
"~ YOURNAME-~ -~ -

, Lo 5NA]1§E0F¥OUR,S(:H60L; )

- 1. What; is ninety thoqsaﬁd?’ninelhdﬁdféaa;{dﬁ  6x+2= 2%
hneinfigures? Lgg> | A B2
C.90999 - p, 99,99953 B SEREERE S e S

= | RS . | 6 Wnatis the place value of digit 3 'in
2. What is the total value of digit. 3 in o 512382 - SR e
o 51”3_7421‘7 o ) et A Tenths - B.Hundredths. " -

30 - SR C. Thousandths  D. Oneths -
Fode B ‘ ' ‘ Rt

~.

A.3000 ' B.
~C3 p R e
T e e e | 7 Multiply 487by37
3.~ Whatis the sum of the first9oddnumbers? | A 17079 B.1819
A0 B27 | 4 19019 D.18019 -
- ¢33 . p 81 - o

R SR |8 Muttiply 'f, by 108 | .
4. What fraction is unshaded in the figure | A 63 B.&4 .
,f‘ below? | BRI C. 124 D. 108

| 9 What is the value of 132 x0.9?
A 1188 1188
C.1188 D 1188

| 10 Joyee had .7/]2_ kg‘:b—fis‘ugar. 'Slie’:_‘used ', kg Snst
e ~ of sugar to prepare some tea. What fraction

e 2 8 - ofthe sugar was she left with? -
AN By

1. Subract: . S
48 340 - Lo
- 35 8% .

5. Find the value of x.in the equation:

STD 6 MATHS




12:

13.
L C.25Y kg
14.

15,
16.

17.

. C.Sh. 188210 cts

" 18.

A 22 km 345 cm

C.2zkmasem

C“/

Simplify by puttmgthehke terms
a+3b+a+2b : . [

C.8a+b

23km445cm, |

D. 33 ki 555 cHfi

B
C. 99 - D. 99 999
Change 25 800 grams into kgs
A. 25 kg -B.25% kg
D 254/ kg

- i i
Wrrte 80% as a fractlon in 1ts sunpist‘fonn‘? I
1 / ‘~ . B 3 /
D 2/

A.7a+56  B. 9a+5b~'

D.7a+b
Write XXXVI in arabic ngmerals.~ |
A 37 B. 34

C.36 D.33

*

Multiply: - » |

~Sh.  Ct
31 35

A.Sh. 186210 cts

B. Sh. 186 10 cts
D.Sh. 188 10cts -
Write 3% as a deeiixxéf, T i

A 03 'B.0.03
C.0003  D.3

19,
. : _.cm.

~ What number ‘comes 1mmeéfrafte¥y Béfore E o
2 10 000? ' ; BT
L A9999

A 102 em
~C. 9% cm

o produces 30 litres of milk everyday Ifhe .-

®

23,

24,
CA6Y,

25.

C. 122

does a road drawn as 5 cm on the map'[
~ represent on the actual road‘? '
A 100m
C. 4_m

Find the perimeter of the};fj,gure below in

- Bxsem O

R ’If 8 —32/40, ﬁnd the Value of x;
A4
C.10

. B.44
D.32"

. How many. days altogether are there from .
‘January to ‘April in a leap year" PR f‘ B

A. 120 B. 121

D. 119
A dairy 'farmér has 5 cows. Each cow' =

sells each litre of milk at Sh. 30, how much

- money does he make everyday"
- A.Sh, 50

BSh4500 :

On a map, 1 cm represents 20 m. ‘What

‘.;_‘_D_;r 00m i

33/

Subtract 9 :
- B.6Y, T
C.4Y, D 54/ B |
Write 3%/, as a mixed number. -
A.3Y, B.9Y,
C. 3%, D.3Y, "

 STD 6 MATHS
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27,

28,
429.7

" 30..

31,

- 26. Alkm bought the followmg 1tems from a

~=shop; -
« 3kg ofrzce @ Sh 110 per kg

3 packets of milk @ sh. 45 per packet o
] 3.

4 loaves of bread for Sh. 200 7
o« 2 bars of soap @ Sh. 80, per. bar :

‘How much money did he pay for the 1terrts‘>

A. Sh. 355 B. Sh. 1 425
C.sh.725 D.sh®s

Add: 6/, + 31,

AU, B9,
C®L, 8’3/

*020 -

Work ‘eut: 3‘:&

800 - 4. 478 :
: «A 796 478 B 795 478 |
€.795522 D.796. 522

A square card has a perrmeter of 60 cm.

" Find its area.
~A. 360 cm?
C. 30 cm2

B. 225 cm2
D. 625, cm? :

trlangle below" L

- '7‘307 _
D. 163°

~ One handkerchtef Iakes 15 mmutes to dry
How long would it take 10 such

handkerchiefs to dry if they‘are hanged at -

the same time on a line? |
A. 150 min ~B. 5min
C.10 min ‘D. 15 min

What is the measure of &ngle EFG in the :
, 1 36-;

-~ ended at 1230 p.m. How long did the
session take” } '
“A. 2 hr 30 min

1 32

34,

35.

- C. 5888

38.

C.1hr276 m1n

~ What is the G.C.D of 30, 60 and 90?7
c ,A, 15 ' \
: C 60

.B.30 .
- D. 90

Inaclock, the minute hand was pointing at

8 while the hour hand was between two

= and three What tlme was 1t‘7

A Quarter to elght
B. Twenty mlnutes to three

. C. Twenty minutes past two !

D. Ten mmutes to elght

VWI’llCh of the folIowmg statements is true‘7- _

A. Reﬂex angle is less than 180° .

- B. Obtuse angle is greater than acute angle
. C. Acute angle is more than 90°. . - -
( D A rlght angle is more than obtuse angle

What 1s the prime factorrzatron of 90?7

A 2x3x3x5 L _ .
fB 2x3x5 R ’
C.2x2x3x3x5
D. 2x.2x3x3x5x5 -

A meeting sessmn started at 9. 45 a.m-and

B. 3 hr: :IS‘zmin,

C. 3 hr 45 min D.2hr45 min

- The differehee between the number of goats \
“and sheep i in Mr. Ombrja s farm i is 2217

The number of: goats in the- farm are 8105.

- Ifthe goats are more than sheep, how many -
~ sheep are there in the farm"

D. 5 088 -

A. 10322

How many hours and mmutes are there mt{'
876 mmutes‘7 3
A. 36 hrs,14 mm ~ B. 14 hr 36 min

D\/ 12 hr 36 mln

"STD 6 MATHS



39,

40.

41.

42,

43,

44,

45

‘and GCD of 6, 15 and. 307

- C. 15

«A. Tuesday
C. Wednesday -

L@
What is the dlfference between the LCM
A3 - B. 33,
‘D.27

The followmg are. propemes that are used 1
to describe a certain four 51ded ﬁgure i
i. All sides are equal R '
ii. Opposzte sides are parallel. =
iii. All angles are right angles.

.. The four sided figure described above is b S
~A. rectangle

i B trlangle

If 8th December 2015 was on a Tuesday, .

which day was 27th November 2015‘7
‘B. Friday o
D. Monday

D1v1de 16 272 by 18
A. 904

C.9004 D.84

width is 12 cm and has a helght of 8 cm
find its length.
A l5cem
C. 5cm

B. 10’ cm

Whlch of the followmg numbers lS not

B.2a12 -

C.1736 D.2 172

Below are angles on a straight line, -~

B}

D.2Sem

\**" 46.

~' ‘x':_ g Fmd ;ts penmeter
AL 16 em

. ] s
‘A cuboid has a volume of 2 400 cm®.. If 1ts L Eony

- 49.
. divisible by 67~ >
A 2472 ”

S apack of 183/ kg?

 Name the angle marked as 55°.

13y + 8x -3y - 2x
A 16y +10x
. C I'Oy'“-l—, 10x:

-

A ABF
C.FBE

' B.BFE
D. 'D’BE’ -

Slmphfy by puttlng the llke Ierrns together

- B. 10y+6x
D. 13y+ llx

The dxagram below shows a rectangle |
- whose area is 144 cm?. Its w1dth is 9 em..

R : s B ; o L ‘:'if)wfi"

- 144 cm? leem

'B.8 cm
C. 32 cm- D 50 cm

What is 64 written as a sum of trwo prlme
'numbers‘7 - i
A. 23 +41

. What is the value of m m the equatlon

_4m 8 36‘7 =

AT
'.'_B 11

\_How many Y, kg packets can be made from i

A T2

D75

B.73
C.74

'STD 6 MATHS
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'TIMER NATIONAL SERIES - -

2016 EVALUATION TEST . {6}

STD 6 SOCIAL STUDIES & CRE

1. You have been glven thls question paper and a separate answer sheet, The question paper contains 80 questuons

‘2. Donotwrite on this question paper.

3. Whenyou have chosen your. answer mark iton the ANSWER SHEET, not in this question paper.

HOW TO USE THE ANSWER SHEET Time: 2 hrs. 15 mins
4. Make sure that you have written on the answer sheet. :
YOUR NAME NAME OF YOUR SCHOOL :
SAMO ARFA

® ® ilage B -
. e o SRRTIN

| J
® _ .
3 a i .8 10 kL
[ 1 ¢ ¢+ ¢ ¢ ( 7 7 -7 -,
—""KEY I . ) TCO T C ‘
: R Quarr o own ounty
Tarmﬁac roa_d. ) O v y R P Ofﬁce
Murram road 5‘} g? Forest _ HOSP Hospntal i
- River. | T--e- . Town boundary PO " Post Office
" Divisional = +| == &3 Permanent ; .
Boundary - e buildings RT Railway terminus
Bndge ! R I: Houses PP Police Post
“Railway.line DO - District Officer Ml;T Market
Fooo T
. Air strip PS Police Station‘| cH Church
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(VS

10.

11.

C. pastorallsm -

answer questions 1 -7.

The general direction of flost:ofRiv
A. south east to north west.
B. north east to south west»;f
C. south west to north east.. ..
D. north west to south east..

Which one of the followmg forms of -itransport is
not used in Samo area? o
A. Railway transport - B. Water transport

C, Air transport - D. Road transport

Three of the following activities are camed outin

Samo area except o
A.lumbering - # mmrng
_tourism

The railway line on the mép is llkely to be used

for transporting
A. minerals B. passengers
C. coffee , D. timber

The cllmate to the north west of Samo area can be
described as

A. cool and dry
C. cool and wet

- B: hot and wet o
D. hot and dry

Which one of the followrng is not a function of

Samo town?

A. Commercial centre
B. Industrial centre v
C. Administrative centre
D. Residential centre

Traders i in Samo town get thelr trade licences from
the

A. district office
C. post office

B. police station
D. town council office

The second largest country in Eastem Afrlca is
A. Sudan B. Somalia *
C. Ethiopia " D. Tanzania -

Which one of the followmg commumtres inKenya

belongs to the Plain Nilotes group?
A.Samburu B. Njemps
C. Pokot _,‘D Rend_r_lle ‘

A wide raised ground that is almost.ﬂat’is known
as’ . .
A.plain

C. basin S

B vplateau
-D.-highland

Which one of the followmg isnot an element ofa
map‘? ‘ .

w4120
o0 AL plantmg covercmps
' - B.intercropping:’
~C:deforestation. L s
D keepmg asmall number oflrvestock

oo A. Frame.
& C Scale

‘14,

15.

16.

ol

17.

18.

. B.Title.
5D Syttibols .

One of the causes of sorl erbsron is

, Populatlon dlstnbatton in Kenya 1s mﬂuenced by

" all the following factors except
A. trade - B: climate.
C. sorls D urban centres

Which one of the followmg is the best deﬁmtlon
of trade?

“A. Buying of goods.

B. Buying and selling of goods.
C. Buying and selling of goods and services.

D. Exchanging goods for services.

Which one of the following forms of traditional

education was used to tell the history of a
’ communtxy‘7 Through o

A. ceremonies. ,
B..working with experts

~ C. proverbs and nddles '

D. story-telling _ ‘ ;

The main economic activity camed outon the side
marked K is

Mountain
A. mining B. pastoralism
C. forestry D. farmmg

Democracy is important in schools because 1t :
A. guides the school programme.

B. makes pupils to be disciplined.

C. promotes unity. -

D. encourages pupils to work hard

Citizenship can best be defi nedas

A. state of belonging to a country and enjoying all
legal rights.

B.right to belong toa pamcular country.

C.theactof paymg taxes to the government

D. love for one’s country.

Sk

&

STD6SSTR



S19.

. A lies south of Kenya
... B. lies south east of Sudan

_ D is located north ofthe; xed

“ e 20

20,

24,

s _'A Sakawa SN

,v,'WhJCh one of the followmg 1s a cause of
‘ lawlessness in. soc1ety‘7 : o :
- A.Loss. of lives 7o o

27, 'It is mlportant forpeopleto :
SR o
AL makes someonenot ta get tn-ed
-~ B.takes Jong to do some work.
. C, promotes the welfare of peop%e
- .D helps people to be selfreftant

® e
T

28 The govemmem encourages conservatmn of farests | f, 5
:vmercierto .
;,{A eﬁa&r 8¢ ‘anty of wxld ammals

thch one of the foilowmg «statemems is e&rrect |
about the posmon of Ethiopia It T

C. hes eastof Somalia’

‘The. jlldlClal system in Kenyaf
followmg people except;

th Basern

o 'The capltai city of xhe country marked M st |
A,ﬂ Dar«rei-salam ‘B. Dodoma cnn

I was a Ieader of a cemmumty
‘many people to resist the constit
“line through our land. Who am T
B. Mek

féq»ﬁmemsmustsheﬁﬁﬁﬂ’? S
. A.GetaKenyan boy friend. e
B Lme in Kenya contmuousiy fer seven years

G O ~sTD. 6SSTR




: C Obtain a Kenyan passport : =
D. Apply for : a Kenyan birth cemﬁcate

- 36. Which one of thefoﬂe\mng statements is m «'%mek -

- about the importance of cultural artef:
- A.Some were used for entertai
“ . B.They wereused topass skills and: l&es
©* C.They tell the culture ofapeople.
rD They were snmlar m all eommumtles

~ matched w1th the atea il 1%
© -+ Mineral
" A.Fluorspar .
B- leestone
o C.Salt
. D, Soda ash :

Whlch
commonly gmwﬁ m,
C. Coffee : : ] '.

L 39 thchane of the fgilawmg

‘made yj ofmanuf
AL ﬂasncs T

Radm repalrs

L --‘_A absentxsmﬁomsbhoo_} o
. B disrespect for teac}:»er~ e

A They are shallb; v.
- B. Most of them are ﬁ'esh wae

- C. They are extremely wide. - !
D. They are major ﬁshmg grounds '

. 43 1 ‘The fallnwmg are~_ha:acterxstlcs. __
Lt regmn ofKenya; '

-~ didtis generally cold most of the year
.iv. One of the sides is ¢called leeward.
The chmatxc regton descrtbed above is

e Rainfall is htgk éver 2 000 mni per year' 5 .
ii. Temperature ranges between 0°C - 15°C. |

4 , | smessm

»A troplcal chmate G
- B. modified equatanal chmate
€. semi-desert. climate
- D. mountamchmate :

n which one of the fellowmg pla

/ is ’cdtténf”
:grown under m:igatxan'? o

 B.Buramnd ola

yetown was the

‘o -

i €




54.

55.

56.

57..

58.

59.

60.

61.

A. availability of labour, ..

~ B. nearness to ready market

C. availability of storage facilities.
D. nearness to source. of raw. mateﬁals.« ,

Which one of the followmg partles led Kenyato |

independence?:
A. Orange Democratic Movement (ODM)
B. Kenya African Democratic Union(KADU)

'C. Jubilee Alliance Party (JAP) ¢

D. Kenya African National Union (KANU)

Which one of the following statements is true

about poultry farming in Kenya?
A. Ttis.done for both domestlc and commercial

purposes.

B. It is the main source of hvehhood in urban

centres. _
C. Broilers areke&( ecifically. for export.
D. Ducks are the most commonly kept. bnrds

Who among the followmg tradmonal leaderS?

welcomed the. British in their land?
A. Mekatilili wa Menza ©

B. Nabongo Mumia:

C. Koitalel arap Samoei

D. Ababukusu

The main industrial town in Kenyais
A. Thika -B.Kisumu .
C. Nairobi .- D. Mombasa

The Lake Victoria basin gets flooded during heavy

rains because

A. it receives more rainfall than other parts of
Kenya 2

B. it is generally ﬂat

C. the drainage system is poor. .

D. people have cut down many {rees.

A country that has no coastlme is said to be

A.adesert B. politically unstable
C. locked ~_D. land-locked

Kenya became a republic in the year .

A. 1964 “B.1920 .

C. 1963 D.1895 ~

C.RE -

1n the first story of Genesrs human bemgs were

created last because
A. God needed mud to'make them
B. they-are the best creation

. C. they needed light

D. they needed land and water

62. -

63.

65.

66.

67.

68.

69.

70.
.71.

72.

73.

 C.Orpah

What did Joseph show to fiis brothers when they
visited Josepliin Egyptand found that he was
the governor?
A. Forgiveness--
C. Patience

B. Tolerance
D. Kindness

What did God use to destrox Sodom and
Gomorrah? :

A. Thunderandlightning B. Floods ’
C. Fire D. Their enemies

In which book do we read about the journey of -
the Israelites from Egypt to the promised land?
A.Exodus- B. Genesis

C.Kings D. Leviticus

God appearedto Moses in the form of
A. thunder B. clouds ,
C.vision - D. a burning bush

Who among the following madc a choice of
going with her mother - in - law?”

A.Naomi . B.Ruth

D. Mary

- Davidkilled Geliath and became the king of

Isracl. Whio-was his father? e
A.Boaz ‘ B. Saul
C. Jesse D. Isaac

What did Bavxd show when he went to the battle
field to fight with‘Goliath? ,

A. Kindness B. Fedr

C. Courage D. Strength-

Who among thie following prophets annointed

" Saulto be the king of Israel?

A. Elisha B. Isaiah
C. Nathan D. Samuel
drearnt of a stalrway h om earth to heaven.
A. A. Elisha ~ B.Joscph
C. Elijah " D.Jacob
How old was Jesus when He got baptised?

A.40yrs -
C.31yrs

B 33 71\
D. 30 yrs

_ Jesus said, Today I will eat with you in your
house.” These words were spd\en to .

A. Simon Peter’
C. Zacchaeus

B. Mathew
' D.Zachariah

AIT the following are the works of Jesus Christ

on earth except' '

A. preparmg the way for John the baptxst

B. raising the dead
o STD 6 SSTR




74.

75.

76.

77.

78.

79.

- 80.

: .81.

82.

D healmg the sick.

‘A. Eucharist

" D. come to God

C. calming the storm.

Jesus used the miracle of the loaves and the
fish to teach His followersto

A. ask God for their daily needs .

B. share their food with the poor -

C. seek the spiritual food .

D. carry some food when' traveIlmg

“Go,” Jesus told them So they got mto the
pigs. Who were they" «

A. Evil spirits
C. God’s table

B Wltches :
D. Demons ,

The followrng are d:fferent names glven to the

last supper exc ‘35 ‘
= B. Lord’s ‘table

D. Holy communion

C. ghosts

“Eli?! 1 Eli! Lama Sabachthan” means
A.Jesus you will die - =~

‘B. take my life

C. my God, my God, why have you forsaken _
me?” B AT T

P P

The night before He was crumﬁed Jesus
prayed in the garden of

A. Gethsamene B . Golgotha

,C. Calvary D .Ierusalem
Who clarified that “Faith wrthout actron is
. dead?

A. Paul ... B.John

C. James D Peter

Sharing the Holy"communron means

A. observing the rules of our Church

B. relationship wlth one another inthe body of
Christ e

C. eating the bread with other members of the

Church

D. sharing n the life, death and resurrection of

__—TJesus Christ

Which of the following sets of words does not

contain fruits of the - Holy Splrlt only‘7
A. Love, joy and peagg - -
B. Peace, kindness and patrence

'C. Self- control, humility and falthfulhess ‘

D. Joy, hatred and goodness

-

Which one of the following is no
Church? R o

Dot arole of the

1 83.

85.

86.

87.

88.

89.

90.

A, tolerance

~C. Explorers

A, Persecutmg peeple B. Umtmg people
C. Lovmg people D Guxldtng people

The main virtue taught to ch:ldren intraditional
African commumty is

*B.:obedience -

C courage D patlence
Tradrtmnally, boys dld the followmg tasks
except B

A. grazing cows
C. fetchmg water

B huntmg
- D. reparrmg fences

ﬁ You have just arrwed home You ﬁnd ‘your father
‘and mother quareliing What is the best thing to

do‘? 5 »

A.lIgnorethem

B. Tell your father to beat your mother

C. Ask your mother to insult your father

D. Ask them to calm down and sort out their
problems

Sarah is sent to buy a kilogram of sugar. The
shopkeeper gives her excess changeé: As a

. Christian Sarah should

A. take it home

B. return it to the shopkeeper
C. keep quiet about it

D. use it to buy sweets

Whlch one is not a reason why people work
today? To

A. get money

C. build good houses

- B. buy food
D. please-others

Your friendisa HIV/ AIDS patlent What should
youdo?

A. Run away from him

B. Love and encourage him /

C. Tell the doctor

D Do hothi‘ng

A good leader has all the followmg values
except

A. unkindness ‘B.love

C. patience_ D. gentleness

Who among the following people introduced
Christianity in Kenya? S
A. Colonialists B. Arab traders -

D. Missionaties
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1. A 26 Bl1. B 26D |l. C. 26 -c, 1. A 26 D |1 D 2A 51.A 7.C
2.C 27.B}J2. A 27.B |2.D 27.D {2. C 27.B |2 B 27.C 52D 77.C
3. B 28. B |3 ‘1&&& C 3 A 28.C |3 D 28 D |3 C 28B 5.D 78.A
4D 29.B |4 B 29.B |4 B 29.A [4 B 29.C |4 A 29.D 54.D '79.C
5. A 30.D|5 C 30. A |5 A 30.D |5 D 30. A |5 C 30.C 55 A 80.D
6. C 3.B|6 B 31L.D |6 D 31.C |6 A 3. A |6 B.3LB 56.B 8.D
7.B 32. A{7. D 32.B |[7.C 32.D |{7.B 32.B |7 D 32.C 57.C 82.A
8. D 33.C|8 B 33.C |8 B. 33. A |8 D 33 B |8 C 33.A 58 B 83.B
9. C 34. C|9. D 34.B |9.D 34.B |9.D 34. C |9 A 34.C 59D 84.C
10.B 35. B [10. D 35 A |10.B ~ 35.C !10.B 35. B | 10.B 35 B 60. A 85.D
11.D 36 D 1. C 36.'C |11.D 36. D |1.A 36. D | 1L.D 36D 61.B 86.3B
12.A 37. Aj12. A 37. C {12.C 37.D |12.Cc 37.C |12.C 37.C. 62.D 87.D
13.B 38. B { 3. B 38 B |13.B 38.B [13.A 38 B | 13. A 38. A 63.C 88.B
14.C 39. B |14.C 39.D |14 A 39.C |14.D 39. C | 14.C 39.B 64. A 89. A
15.D 40. C 115. B 40. C |15.C 40. A {15.C 40. B | 15.D 40.C 65. D 90.D
16.C 41. D 116. C 41. B |16A 4L C |16.B 41. D §16.B 41.D 66. B
17D 42. B |17. D 42. A |17.D 42.D |17.B 42. B | 17.C 42. A 67. C

18.A 43. A |18. B 43. D {18.C 43. A |18.D 43. A | 18.A . 43.D 68. C
19.A 44. C |19. A 44. C |19.D 44.B |19.C 44. A | 19B 44.B 69. D

20.B 45. B |20. C 45.C [20.B 45.C |20.A 45 B |20.C 45.C 70.D
21.B 46. C |21. B 46. B [21.C 46. A |21.B 46. C |21.D 46.C 7. D
22.C 47. AJ22.B 47.D |22.B 47.D [22.B 47. B | 22.A 47.A T2.C

23.A 48. B {23, A 48. A [23.C 48. A | 23.B 48, A | 23.C 48.D 73. A °

j24.B 49. C |24. D 49. B 24D 49.C 24D 49, D -} 24.B 49.B 74. B

{25.A 50. D |25. C '50. D |25. A 50.C |25.B 50. C |25.D so.Cc 75 D
COMPOSITION MARKING SCHEME

M ARKING CRiTERIA : .

1. The composition will be assessed accordmg to the following guldehnes

- The maxmum mark will be 40 and the mlmmum 01

- Does the script show that the candzdate can communicate accurately,
in English? . :

Accurag ; : : :
(a) Correct tenses and agreement of verbs (4 marks) (b) Accurate use of vocabulary

(8 mari(s)

(c) Followmg a sequence (4 marks)
Fluency (8 marks)

(a) Words in the correct order (4 marks) Vo
(c) Correct spelling (4 marks)

Imaginatior (8 marks) v _
‘(a) Unusual but approvriate use or words and phrases (4 marks)

(b) Variety of structure (4 marks)

NB: Please teachers vou are requested to serutinize this marking schetne before use.

(d) Con ect punctuation

b) Sentence connected and paragraphs

(d) Ideas developed in loglca.l sequence

ﬂu‘ently_ and imaginatively :

 (8marks)

(8 marks)
(4 marks)

.. 4 marks)
(4 ma;ke) .

It is worth.




